Complete

Mark 10.00 out of 10.00

v Flag question

58 a3l gazaall 5 alaall g5 .

a. paixallg dwyaall 8445 28 dw)las.
b. S8l gsamia oo zaluwdl 3aLj.
* C.o Ml gl yewdy Jegud.

d. oMbl alisa e Suodl] Yl

The correct answer is: ¢ lwl yeusdy Jugud
Ml

CamsScanner = Wigo d>guaall
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Complete
Mark 10.00 out of 10.00

w Flag question

Ylod g Unii laleza 1oy 338l of Lle gous oy S
dalei U531 Jasll JM5 e

Select one:

True

False

The correct answer is True.

Complete

CamsScanner = Wigo d>guaall




Complete

Mark 10.00 out of 10.00

 Flag question

58 a8l gazall 8 alaall ygs ..

a. gazallg duwysall 3438 =@ dusylaa.
b. &Bladl gysmza ryu Zolwd| 330y,
* C. oMl ale yiuig g,

The correct answer is: alei you iy Vigd
oMb,

CamScanner = Ligd &> guwaall
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Complete
Mark 10.00 out of 10.00

v Flag question

Y-S ._,ns)ﬂ Raiall o2 aleall you ...

a. oMl calzses opo Juodl LAS.
b. &Bladl gssmza oo aluadl 3Ly,
C. &n:;yu.\“g dusyrall 3349 4 dwylaa.

d. EOERV-| an..a‘n” 2 daldll dal8).

'he correct answer is: gauxall 8 8sLadll dald)

L__ -

J.JJ_)._L{L“.

Question 1 0

CamsScanner = Wigo d>guaall
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Complete

Mark 10.00 out of 10.00

v Flag question

lages bLIyAlg Jeladly ySadl Colg> 8.

Select one:

~ True

False

The correct answer is True.

Bx Arasic  EncusH ; X

CamsScanner = Wigo d>guaall
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The correct answer is: luddl sl

Complete
Mark 10.00 out of 10.00

 Flag question

ol puadl ele o Jodl dlsyall 3 gyl adizel ..

b. muuxdl ya Ll 3ol by Jaoll asdl e 3ol

C. d8Me ye 3yle auwallg Ja=ll o Jeladl
lagio &ygluta.

d. Madia p.u_?«_ltg Jasll.

The correct answer is: lasll ;0 d8Me Jla

el

CamsScanner = Wigo d>guaall
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Complete

Mark 10.00 out of 10.00

v Flag question

sk sk Jahll sac (4o aailly Jodl dndl 8
Jabll wie elazadl eladllg gial yuSallg dalll

Select one:

True

False

The correct answer is ‘True'.

Finish review

CamsScanner = Wigo d>guaall



Complete

Mark 0.00 out of 10.00

v Flag question

puxlly Jaolly pual jud @le o Jodl dl>yall yac
Lgin bliydly Jeladly 1 Sadl Cilg> 8.

Select one:

" True

False

The correct answer is 'False'.

CamsScanner = Wigo d>guaall



Complete

Mark 10.00 out of 10.00

w Flag question

dadedl dlasll yyghad dowlyall.

Select one:

True

* False

The correct answer is 'False'.

Question 7

Complete

CamsScanner = Wigo d>guaall



Complete

Mark 10.00 out of 10.00

 Flag question

sl ol uddl @le 8 3Sall yuylae ey
909 (ayall Lyl Bysd) A1 dulyally @agy Al
o e

a. gadl ;8 Laldl.

b. L Sealuall cobdl.

C. oyl ol

o d. Siluwsdl il

CamScanner = Ligd &> guwaall

The correct answer is:  jlusdl cildl.
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Question 1

Complete
Mark 0.00 out of 3.00

v Flag question

agagd ol e 3181 e 8 il ale sl
[a&:,.k.'l Al tg_)ll EL,,.‘D—I io.gé_g.

Select one:

True

False

The correct answer is 'False'.

CamsScanner = Wigo d>guaall



1. Y = P Yeh < Uoredoo Hu

2 [ C  sumssueduom & )

Complete

Mark 3.00 out of 3.00

v Flag question

Glylgey Glyasy 3,8l Loan B 4uats ole aclws udill ale
Lanedll Sl Taa B 1558 rracand casleadl cilidie e
Leas i Lauladll

Select one:
O True

 False

The correct answer is True'.

Complete

il u (@ < >

CamScanner = Ligd &> guwaall
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Complete
Mark 3.00 out of 3.00

 Flag question

Lo ke alailly gaiill o Gl

Select one:

) True

O False

The correct answer is 'False’.

Complete
Mark 3.50 out of 3.50

v Flag question

Fas
LhLo, Y1 Gl 56 el (LS8 / 5YT) sl
SVl padllon

CamScanner = Ligd &> guwaall



e e T e fYeh = Loredoo M.

Complete
Mark 3.00 out of 3.00

¢ Flag question

et 24 o] (e lsyll) Jilall Jo¥1 asdll ope 5 5581 od
igyall daaade S lasdaTl £ LSH 4,80 aakatoas

Select one:

_ True

O False

The correct answer is 'False’,

Complete

Mark 3.50 out of 3.50

¢ Flag question

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

v Flag question

¥ Tiokall 5l et (G501 / 291) 506
Ll asgdl o

a. Lyl ol Lo cslS 3] Leigs alazig/ gl

3 5.

0 bl bl ol Glaiuy | culS 1) LS aluyae/ o550
£ L3l 53

| C. dandye Lladund ) culS 13) Leied Jiiy/inds.

0 d Lsje yui Gaiwy! cilS 1) LSes Jitg/ciaan

The correct answer is: &S 3] L5 Ji5e/ daal
Ladye s Llaiyl,

_

Complete

CamScanner = Ligd &> guwaall



1. T = g Yrh = Uoredoo Hu.

2 [ C  sumssueduom & )

Complete
Mark 3.50 out of 3.50

v Flag question

Tl g poanill Julail) 585 0 Lanad 80 5
aaiall gyl o Ll 115Ss Suama Ll (3R
= (S

D a. Liall 4l

D b. LY.

O c. Ll LY.

D d. sgll.

The correct answer is: Llall LYI. .
A\

uestion g

il h (@ $ >

CamScanner = Ligd &> guwaall
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Complete
Mark 3.00 out of 3.00

¢ Flag question
LS aas B,ISET panaly wesll Jus L Ol digyd afiay
Al

Select one:
) True

O False

The correct answer is 'False’,

Complete

Mark 0.00 out of 3.00

v Flag question

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

v Flag question

Jall s L Lasi il ol .
80 oelill s eal e Caltas Sapipdynll

b. ssieudl o8 Jsa &1 S huiiad 3dy goilanll
sl

O C. byl (sl 5 sk isias 3 giyall.

0. gsienll (o8 Joa &S Ciuiial 389 o3laagll
et

The correct answer is: s ash wiuial 385 odyall

Ll gsidl

Question 21

Mamnlata : .
CamScanner = Ligd &> guwaall



1 - T = I = LVoredoo .
Complete

Mark 0.00 out of 3.00

v Flag question

oo SLOEAY o Jlia 5] WSeleu| & lail] s80aS
1 i PO | PR | IR Y

Select one:

' True

O False

The correct answer is ‘True'.

Finish review

' * ‘
‘ n Quiz navigation

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

v Flag question

38 gl gsiall i plall g0

A, wall LSl ol Jaagig dadas
O b ol Lyl ol alaiayl,
O C. bl 550 alaill da i,

d. slafin |y alaill Lal5 oOUI Sdas.

The correct answer is: Clalsll 51359 alaill daias.

Complete

Mark 3.50 out of 3.50

N\
v Flag question .

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

v Flag questicn

= ol elale 38l Ll Asyll yoae i ...

DA dsledly avually Jaall can Bkl

b. sl ly avanlly f Loadl cps Zadlall.
O C. Sl Lilga b aeually Jaadl o Je il
D d. LSEl il o pesadls B Lol o Je i)

The correct answer IS: oé awaally Jaall cas Je Ll
Sl Lalea

Complete
o
Mark 3.00 out of 3.00

v Flag guestion

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

v Flag question

RNV LEE BRI T JCHREST NN LI TH CIPY.
Rt Ty el

J a. Q_.«.é_h.p.ii._al_-_\.:i...uiqa.lﬁﬁjﬁ Lnﬂ,_lil/-_i.l.un:
Le.

O b, suidl o8 Glaii¥ ! sia o) SO LK 513/ o680
sl

C. i o8 Glai¥l aia o) S5 LalS JS56/Cda a5
sl

0 Ly i Glanyl s ia o) S5 LS Gla5/ g6,

The correct answer is: sia o, S5 LK sla35/ 565
gl yuds o Llaadl, .
: A

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

¥ Flag question

...;tdai:JI clale fs'.[dJJyl :.l.:._,l.l _,..a.l:.&gj ;

) @, dsledly aeually & Loadl o dadlall.

O b, dsleally arunlly Jiall o Tslall.
C. Sl il (o avually Jaall G Je Lid1.
d, SEN il o peaadly B Loall g Je i)

The correct answer is: asually Jaall cas &Skall
el

Complete
Mark 3.50 out of 3.50

 Flag question

CamScanner = Ligd &> guwaall



e e T e vy <= Loredoo M.

Complete
Mark 3.50 out of 3.50

v Flag question

sia o pauilall AL 5L (IS (e Ciglil @ jaS o
o = a3l gyl aladl] .. g2 2,03l

a. LKl

O b. plall

- C.opmpall

The correct answer is: aladall.

Complete

Mark 3.00 out of 3.00

v Flag question

CamScanner = Ligd &> guwaall



1. Y (= P yYeh ~ Uoredoo Hu.

Complete
Mark 3.50 out of 3.50

v Flag question

8 ULll Sy 15 51 oSl g sl (g5
Jiall

A sl o el aghy hiiiald 345 od5all
Suelall]

O b, (gsieall s spandl pgls isiuns 3is pipall
alall,

€ sfienl] b Jsh SIS Cisiad 3ig oilangll
el

0. il (o8 & gausans Chiial 3dy 6 adil|
ualall

The correct answer is: ash iuial 349 o850l
._,u.aLE..“ \5.9'-""“‘“ ‘19,1. _L_,_;_\.?JI.

CamScanner = Ligd &> guwaall
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Complete

Mark 3.50 out of 3.50

v Flag question

Ll a1 e ,Y G Lalia ¥ il | 43Y
ALY L Glaitily avuadl Cailag (ol 8 plascall gl
Q d. 1'3 l:l!_’:lﬁll
b. 6-12 L.
€. 19-12 ol

) d. 6-3 s

The correct answer is: 1-3 &lyiw.

il M () 4 >

CamScanner = Ligd &> guwaall



e e T e Yy = Loredoo .

Complete
Mark 3.50 out of 3.50

¢ Flag question

e Glatily auall Ciillag ole 5 lascd] yslal Lot
E.L'n_;.n:l

) d. .__le.h...&il 2999 L_“Jl

O b SAL jeaidly Ll

O c. Jaadlgaanuyl,

The correct answer is: Jaslly LMY,

Complete

Mark 3.50 out of 3.50

CamScanner = Ligd &> guwaall



e e T e P yYeh < Uoredoo .

Complete
Mark 3.50 out of 3.50

v Flag question

el g Tl ¥ Gl 1 el Y1 0,306 o
Slaiaily
O a. Tuudya Llaiall (S 13] Le3sh a3V s

) b, ol o Lot slS 15) Ligs Jii/ inuas
£ ld) od Ll

C. Tandya it Llaiua¥! 2lS 13 Lygh alu3/ssi

d.]n@_}l.:.djifla_ 2ol | 3lS 15) Leted JE3/ ianas
gLl 5i

The correct answer is: <l 13] L5e8 sla33/ g8
Sanaye tilasd]

Question 27

Comnlete .
CamScanner = Ligd d>gewadll



Complete

Mark 3.50 out of 3.50

v Flag question

deadodl Balall &iony @lazall sLds augy cotwe
339 dymall Jlnall 8 lgiy lagd SBMall Sl yalg
a. a3l cgiuall l_,s S
D. jualsdl gotuall 3 Syl
¢ C. wlyl ggzuall us Lol

d. gyl ggauall O Syl

The correct answer is: ¢gzwall 8 Juloul
I,

CamsScanner = Wigo d>guaall



1. T = g vl = Uoredoo Hu.

Complete
Mark 3.50 out of 3.50

v Flag question

O A elaiiu¥ g alaill LS13 Lolall 5adas
9 b P-'-C-IJ._I‘!_’L:IMI#J._IPJ.
~ C. h?!m iﬂJ‘,i.";IlJ;Li:l.ll:l ‘n.l.n:.lf[

The correct answer is: agelas] g SOUall alad Jugs,

Complete

Mark 0.00 out of 3.50

¢ Flag question

CamScanner = Ligd &> guwaall



e e T e vy <= Uoredoo M.

2 [ C  sumssueduom & )

Complete
Mark 3.50 out of 3.50

v Flag question

Jalaill 5k o8 Luanill oye Llall LY 23a 05SG
Lod cpsila oo gl
© a. Ll ¥y padll Lila,
b, Llall By jenall GLe Gila
G Bl sl seaall il
d. GG slly saaall Ol iila

The correct answer is: Llall LYy jeaall Lala

il M @ $ >

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

¢ Flag question

o Ly Ll W e aleialy Uall sy Losie
cllig calshl a5 GLSS ) LAY s e alal
LiLaY | UntiBU plagl] a3l cpand danad e ans
(B3 Glasud a5 yldwalall...

YR SV N POCTR [P 10N | B I [ P [
Slaall alaaio) Uaniulys

D. uséra yui sl Eigaal qulas¥ ooyl aladll
wlall alasiil daslss,

C. Uaiulgs st yo eslin Sigand ol ooyl alalll
olgll alassnl,

O d st ye st dslis Sgaad oV oda il aladll
Sliall alaasil dasilss,

The correct answer is: gulaa¥| ooyl aladll

CamScanner = Ligd &> guwaall
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< Ooredoo |

Complete
Mark 3.50 out of 3.50

v Flag question

Gosa o8 s3] € 163 op Baalitlly gralis el Loic
(S5hems o yims Jadll Lis 516 Lediia
a. Jsp &S Cisial (o Haadll.
O D fsemsas il (o8 guuall J,0Y1L
) €. b &IS Cisiead o o LSV o] JLEY),

B RIYVROUIE RIS e I RTS% (/N )

The correct ansSwer is: ciuiual o geualdl Wl ,5Y1

Complete

Mark 3.50 out of 3.50

—— Clam Aiiastian

CamScanner = Ligd &> guwaall
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Complete
Mark 0.00 out of 3.50

 Flag question

s oilaY | Ll Wil e alaials Ul s Lo
Sl ) e o Slaa sle dgaan Jal (o aay e aladll
ot Jad dllan] od o)ie alall Jgid any yudill ale

S Ulaseatlsda 5l Ll Tudladt . ¢

3. sl asd o dlslon cuiat] galuadl ooyl el
laall alaaiil

O b Gstre e dslow iadl alas¥ ooyl alall
sl alaaii) Uasulys,

| 0 Ul capye sbon csinl gl gyl o La3l

olsill aluail
d. s ye st dsbs iadl gala¥ oboyll aladll
laall aludii) Uaculys,

The correct answer IS ciadl galodl ol il !
Sl alanionl Uniules s yo slow.

CamScanner = Ligd &> guwaall
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Complete
Mark 3.00 out of 3.00

v Flag question

gl o Lol ¥ il 5l L3081 (6 o
31335 Tondye Llagewd S3lS 13) Liiss wiiands Glaiuwly
PR 2 e 0 L P St ) ) W Pt

Select one:

' True

O False

The correct answer is 'False'.

Complete

Mark 3.50 out of 3.50

"
v Flag question .

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

v Flag question

S dS e Gl 5SS
O b. uniSe Luuylally slanzanl,
O C. LuuSe Luuylall Uiy gl

O e Lylally Luadl ol

The correct answer iS: LawSe Luylall Usy maill.

Complete

Mark 3.00 out of 3.00

At
¢ Flag guestion .

CamScanner = Ligd &> guwaall




e e T e vy = Loredoo M.

2 [ C  sumssueduom & )

Complete
Mark 3.00 out of 3.00

v Flag question

oo JS ot | sl gle SN S sde ASGL 4 Ll
ol JELY

Select one:

O True

) False

The correct answer is True'.

Complete

Mark 3.50 out of 3.50

il M @ ¢ >

CamScanner = Ligd &> guwaall



RgT@ pvia < Ooredoo

Complete

Mark 3.50 out of 3.50

v Flag question

1 sae b Saad (Ol 59 Y e Lala¥ ] i)l 4a3Y |
a. Lasjally 13l WS 4L sgaa
D. 8:LiSIg SV L Heatll Liail
C. A1 i e Lapglly il ey gl o

O d LHELYL acuall Caillag ole 3kl | 5usks
Jaalls,

The correct answer is: iilsy e 5 ol gl

CamScanner = Ligd &> guwaall



1. T = P vy = Uoredoo Hu.

Complete
Mark 3.50 out of 3.50

v Flag question

O JS s Gl (S5

) 8. LuSe Lulally madill,
D' bt Gaslal ly alaxisdt)
) C. LanaSe Tunylally anilll,

O d. Lule Loylall Usg slaaioa¥ |,

The correct answer is: 4uwylall Uiy slaaiwy|
danse.

Complete
Mark 3.50 out of 3.50

v Flag question

CamScanner = Ligd &> guwaall
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Complete
Mark 3.50 out of 3.50

v Flag question

5 3903l 1l o Baalaally als jaa8 Losie
$oua S8 yuun Jeall laay 416 lg)jis disas ..

a. ug..mmusﬂmﬂl/&n“
b. Joo &1)S s ;6 oLl ol YLzt
C. Joo OIS aal D Juzadl.

d. ;gumaw Buai uB guaJ1 Jlya3l.

The correct answer is: wacai 8 wsdl ol S

0y Gesatian, '

CamsScanner = Wigo d>guaall



1 .- Y = g vl = Uoredoo Hu

Complete
Mark 3.00 out of 3.00

= Flag question

SLEAYT o6 Lgdin Cdls Slao (o Ga ()6 Loie
iy palinnd L3l « oigh] Gamgill Boll ally il
Slegaaldl s G,

Select one:

. True

O False

The correct answer is 'False’.

Complete

Mark 3.50 out of 3.50

¢ Flag question

CamScanner = Ligd &> guwaall



1. Y = g vl = Uoredoo Hu.

Complete
Mark 3.00 out of 3.00

v Flag question

alaall L aill by clpbad] (33955 oyo (oI5 35kall pd
228 Talaiadl e a1 3 s SaneASH b
byl

Select one:
O True

) False

The correct answer is 'True'.

Complete
Mark 3.00 out of 3.00
¢ Flag question

CamScanner = Ligd &> guwaall




Complete
Mark 3.00 out of 3.00

¢ Flag question

839920 Olagles adazy Legll I8 Lo oyl aygy8 S
Sl agx> JI zlod el

Select one:

“ True

False

The correct answer is 'True'.

Question 9

Complete

Mark 3.50 out of 3.50

CamScanner = Ligd &> guwaall



EE—
complete

Mark 3.50 out of 3.50

v Flag guestion

4 boLydl @Bdall 1 wlalye? syl 3B B
sl 2ol st oo

a. b d)louiu 91 oid S5 LalS &5/ andS
L o0
b. 5 doloezwdl 030 &yyS3 LalS 5135/ gods

Lo 229
C.h,éf&.gb_a..u)lial.m&_,)ﬁlﬂlsﬁ/ S

© d oo dylozud 0l &9yyST lalS 31335/ ¢ odl

The correct answer IS: &S lals JIJ};/LSy';.

gogll yudi 5 Gl ola

CamScanner = Ligd &> guwaall



Question

Complete
Mark 3.00 out of 3.00

w Flag question

iuSe WM @ladly il oy WM

Select one:

True

¢ False

The correct answer is 'False'.

Question 1 6

Complete

Mark 0.00 out of 3.00

—i_

CamScanner = Ligd &> guwaall
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Complete

Mark 0.00 out of 3.00

v Flag question

ity G ( igall a> 94| Balal h_‘;_ks'.a.”_g QL.QJI
dcgasall 1515 ggyall Uiy

Select one:

True

False

The correct answer is True.

Complete
CamsScanner = Wigo d>guaall



Complete
Mark 3.00 out of 3.00

W Flag question

24 ) (dslayll) Jahall Jodl pgl oya byl 8
Doyl wasig Olagledl ¢ Ll syall gdniug 134

Select one:

True

* False

The correct answer is 'False'.

B Arasc  Encush : X

CamScanner = Ligd &> guwaall
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Complete
Mark 3.00 out of 3.00

v Flag question

223l (o Abloydl Bvall 16 Y L gls 3
byl &1 dlanzanill <l 13] gigd cois dolozaly
dad 30 3l g cSIS 13| Lgied anaig ¢ Ll o3

Select one:

" True

False

The correct answer is 'True'.

CamsScanner = Wigo d>guaall
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The correct answer is: alakall.

Complete
Mark 3.50 out of 3.50

y Flag question

a. daluseall d8laall OLalsdl.
D. LMl o SlaMusl,
C. daluiseall 4.8 yell Oile gamall.

d. oMbl o oyall Fgyall.

The correct answer Is: oMl o O18YsN,

CamsScanner = Wigo d>guaall



Complete

Mark 0.00 out of 3.50

v Flag question

SOl bladl diwl e alazaly LU Coog Loz

2 Gl d8yea e dio> @i Loic sy oo @lodd| (8
dnziW yulagall 458 yad dawl oMlel sy Al
Jaad Glonzadl 030 18 dalull LY ..

. sut obus it alodl bzl alasd]
o ldall PIM! dawlg Vgl ya.

gl alaseiwl dawlg Lot ya.

C. ot 3o skus wuin) sbull o sl lal
Sloall alaseiwl dawlgs.

d. Dt sa b cuiomad bl bo sl o)
o ldsl] f»l_t.i::..d dal gy

CamsScanner = Wigo d>guaall
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Complete
Mark 3.50 out of 3.50

v Flag question

0889 joayll e Jaloll lgd (Sany 2l dl> yall
3 aud Sladhaall ..
3. &5l yae ¢ &S yodl dpunnll A yall.
b. dsylyl yac 8 83ymall Sllas)! dl>ya.
C. duwsludl yae 3 Ollasll 15 Lo dl> ya.

d. dela)l yac L3 Lyslall Ollasll dls ye.

The correct answer Is: 8 daslall Ollas)] dl>ya

dalzll yac.

CamsScanner = Wigo d>guaall



Question 1 0

Complete

Mark 3.50 out of 3.50

w Flag question

Sulall &y @lozall sLdy @ugy Lol ggiia
Jall \_,.9 o lad OBl dlyslg duadedl ..

8. gotall b poly chstal 83 ,3yeal
uwalsdl.

o b wlyl gzl 2 poly Al 88y 8 ymall.

C. ggwall S Jea OIS duad 389 Slaxgll
ualsdl.

d. ggtwall S Jo SlsS cagal 39 Ejjlg:g-gli
2l

The correct answer is: agly cacai §8g 5 880"

Iyl sozuall 8.

CamsScanner = Wigo d>guaall
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The correct answer is: plwdl byl elesdl
ol gl r:\-|..s._:§-=_';...u'i dowlg gt ya 1é ol Sgas.

Complete

Mark 3.00 out of 3.00

 Flag question

dyyladl @89 Jdgludl rppgSd Jodl 8ghasill SO e
Liloall 3aseall o1 y281 S US| ub_,..i‘...” @lozl
gﬂ.u.b Jsin Las éﬂ‘ se2all 20 @3l

Select one:

True

* False

The correct answer is 'False’.

CamsScanner = Wigo d>guaall



. (s p Yo <= Uoredoo M
Feedback

Complete
Mark 3.00 out of 3.00

v Flag question

ﬂi@wﬁ.lbgdrh“ g syl dats 38T
.M|¢§M|¢J£ﬁ}§ﬁ3hml

Select one:

' True

© False

The correct answer is False'.

Complete

Mark 3.00 out of 3.00

v Flag question

CamScanner = Ligd &> guwaall



Complete

Mark 3.50 out of 3.50

 Flag question

a. 3 Sadl Ll B puadly Jasll s Jelazl
b. gludly @usly Jasll cye @85l

d. Jgludly auadly § lanll oy @BYsll.

The correct answer is: awsllg Jasll -y d8Msll
Jolullg.

Complete

CamsScanner = Wigo d>guaall




Complete

Mark 3.50 out of 3.50

 Flag question

SN blaall diwl o slazaly LI oo lanse
B Olys Lle dgas ol e asy e pladl 3
Lﬂ_\la jadnd e dgas sy quddl ple Olaai yyhe
J2a3 Gzl 03 ;18 aales 4o ...

a. ot ya dolu Sgand Ll 23l ladl
ot alascisl dawlg.

b. 3t Aol Sgand ol oyl el
Sl alaseisl dawlgs wgé ya.

* C. oyt ol Sgand  sloulll 23l @l
lodl slaseiwl dawlg wgé ya.

d. Dstye dol Sgund dudl oyl @:.'
Dlaall slaseiwl dawlys.

CamsScanner = Wigo d>guaall




Complete
Mark 3.50 out of 3.50

v Flag question

Lasdly wlaall Olacl zMall 21458l .

*a. el jasadl L8 e slsis.
C. sl Silasyl L8 e slsys.

d. éJLﬂl‘ pesadl L8 e ds.

The correct answer is: jasuidl L8 4o slays
galall.

CamScanner = Ligd &> guwaall



Complete

Mark 3.50 out of 3.50

w Flag question

B O3 Al 9usShyd duelazndl duddll da3dl
gl ogi Slgis 6-3 sac ...

a. auadl adndil Lle 8ybdl gk
D. 3elasllg &Yl ygnadl duass.

o C. dasiallg Il oSl duylizs] sgus-.

d. syl 18 oy g Blyzedlg dsgq)l dasi.

The correct answer is: .St dsylas! sgas |
daviallg Olall

CamsScanner = Wigo d>guaall



OMANTEL & B8 0KsHA O =l (3659 PM

Complete
Mark 3.50 out of 3.50

v Flag question

seiny gl util] Vbl i 8 Geasiuadl ejo
a. LYl

b. Llsll GYI.

c. Llall ggll.

d. sgl.

The correct answer is: ggll.

CamsScanner = Wigo d>guaall



Complete
Mark 0.00 out of 3.00

w Flag question

sl OLSsls IS oyl &S gludl dyyhad) adues
dalises Olilgadlg

Select one:

“ True

False

The correct answer is 'False'.

Question 20

Complete

Mark 3.00 out of 3.00

CamScanner = Ligd &> guwaall



= all (32 7:00 PM

Complete
Mark 3.50 out of 3.50

¥ Flag question

8 el yazall 16 (LIS Jle (Bl dyyani LB
@ = Jaloudl ( Seludl @ledll] 1. g0 dys2ell 0la)

a. plalall.
b. wlelll.

C. Isdl.

d. Lyl

The correct answer is: alahll.

CamsScanner = Wigo d>guaall



Complete

Mark 3.50 out of 3.50

w Flag question

oo JS o d8Ma 95T ..

8. duwSe duwylaallg il
D, duSe duylaally slaswl.
C. dwuSe duwylaallg dmslull.

o d 4use dujlaall dsg paill.

The correct answer is: duslaall dl8g il

——
———
——cnlete

CamsScanner = Wigo d>guaall



0K/'s % ® = .l (72D 7:01 PM

Complete
Mark 3.50 out of 3.50

v Flag question

a. gl

b. Uleczwyl.

C. Lzadl.

d. sl

The correct answer is: ulacwl,

CamsScanner = Wigo d>guaall



WhatsApp

Complete

Mark 3.50 out of 3.50

 Flag question

lasaly gy pustdl] Jeloedll d335 3 daseal] o3
Dok 8 Llua _c;SJ Eoo HludW  BMsY
ERQr-WATE TUZN| B

a. Byl

b. gg)l.

c. Llsll g,

d. Lls)l GYI.

The correct answer is: L)l GYI.

CamsScanner = Wigo d>guaall



Complete

Mark 3.00 out of 3.00

v Flag question

i 0633l jasy s o &Sglull & yladl dss
.CJU'_g._._:.Jlg _).‘JHJI OLS ol

Select one:

“ True

False

The correct answer is ‘True'

Complete

CamsScanner = Wigo d>guaall



Complete
Mark 3.50 out of 3.50

 Flag question

oo IS o Ml (46T

a. &ewSce dw)laallg G‘a"”
* b, & uSe duwyladll dBg deslull,
C. dewuSc dwylaallg slazwil.

0. 38 2usilaalls daadlall

The correct answer is: dulaall @8 dodll

CamScanner = Ligd &> guwaall



Mark 0.00 out of 3.50

v Flag question

SO blaall dliwl e plazaly LI oo lanic
O Gl>ys d8y00 e A @i lanie a9y e alodl 3
i cyilagall da5l8 o> dawl oMel any Al “
J2a3 Glocradl oda 18 ddludl 48LSY ..

8 st ol ind bl oyl e
Plaell alaseiw] dawlgy wgt ya.

Slodl alaserul dawlgs Lgé ya.

C. wofso dolw cumd Ll u.b_).i‘.l| ale|
Glodl plaseiwl dawlgs.

d. wofya Jolu Cusd ,,_L.J l Ub}.:l‘dl el
Wlasll slaseiw! dawlgs.

.
i

The correct answer is: Ll byl PJ_L-M:

CamsScanner = Wigo d>guaall



Complete

Mark 3.50 out of 3.50

v Flag question

dgbliydl @8Mall 18 wlylaiyodd vyl 5938 9
Gloezuilg gogll oya ..o

© A B ladl ode 0SS lalS sla3s/ gods

2.6 o)l yu.

b. o3 dud 40 le';g..‘ 23 oals |_'.‘! '-6499 J.OJ/ .
ud 93 bliyl.

C. 8 ozl odey &y)S5 lals &/ e
adsgll yud,

d. 3t Glozad] <515 13] Lgigs 13/ o
gLl 93 byl O3 dxdsa.

rem |

The correct answer IS: &S5 alS sls3i/ ¢

2ol yuis 3 dlazadl oia,

CamsScanner = Wigo d>guaall



OMANTEL - e 28K/s & = all 72) 7:.05 PM

o
L ]

@ https://sulms.su.edu.om/mod/quiz

Complete

Mark 0.00 out of 3.00

 Flag question

oo daass bala S aleall ool yuyadl deis gl
Ml ¢ audl e 035539 dolazal |Ms

Select one:

True

False

'he correct answer is False'.

& ARABIC  ENGLISH ; 4

CamsScanner = Wigo d>guaall



Complete

Mark 3.50 out of 3.50

 Flag question

5o a8, gazall 8 alzall ygs ..
a. oMbl &l Oyl slazadl
D. cladzudly alezl) Lild wdlall jias.
C. sl ySadl Olylgs Jeogig ddai.
d. agelalg oMbl alei Ligos.

I'he correct answer IS: oMl @les Lguws

pgelals.

CamsScanner = Wigo d>guaall



Question 27

Complete

Mark 3.50 out of 3.50

v Flag question

E’é WRCS U_..” 59y )Y daclazsy] dwadl dayl
il o gi Olgiw 3-1 sac ...

*a. pwadl @iy e 5ylall yghal
Joesdlg ddMawsdl.

b. 13 (yo dagally Blyuclg dyogll dnss

L'H_;:SHL

C. dasy=llg SlA _L.‘SLJ dyyleis| sgas-

d. .Uy B0 ygnadl duass.

The correct answer is: Lle 8ylacddl yglal

[

CamsScanner = Wigo d>guaall



iR NOJ p Vol < Ooredoo Hus
Time taken 12 mins 47 secs
Grade 50.00 out of 100.00
Feedback

Complete
Mark 0.00 out of 10.00

v Flag question

dbiall Ll s Laladl ghay qodUall E 43311,

Select one:

O True

' False

The correct answer is False'.

Complete

Mark 0.00 out of 10.00

CamScanner = Ligd &> guwaall



T @ p Vol < Qoredoo

) [ C sulms.su.edu.om & >

Complete
Mark 0.00 out of 10.00

g Flag question

U s Tl Gl i oSl 3

Select one:

O True

_ False

The correct answer is 'False'.

Question 5

Complete

LI P A T a Ta IR e S fa W aTal

il U () $ >

CamScanner = Ligd &> guwaall



BT @& g oV % Ooredoo M.

Complete
Mark 10.00 out of 10.00

v Flag question

(633 ALY &L om0 Gy el Jasusia a3
Ol JS Saaall Ll

Select one:

) True

O False

The correct answer is False'

Complete

Mark 10.00 out of 10.00

g Flag question

CamScanner = Ligd &> guwaall




BT eE P Vol " Qoredoo |

Complete

Mark 0.00 out of 10.00

Vv Flag question

A gyl gaiall o8 3alall Lls).
O b, oolall Caline o jaaill LSS
) C. oLl suaaie o peladll 3005

O d. quiallyLuuyall 3uh g Luuplan.

The correct answer is: gaiall od3aLdll Lals)

WJAI

Complete

Mark 10.00 out of 10.00

v Flag question

CamScanner = Ligd &> guwaall



T E p Vol < Qoredoo

Complete

Mark 0.00 out of 10.00

v Flag question

Gl yoks el Jabll jac o ciuailly (s¥ Ll o
Jilll sie gelaiad | aladlly eyl Sl

Select one:
_) True

O False

The correct answer is 'True'.

Complete

Mark 10.00 out of 10.00

v Flag question

CamScanner = Ligd &> guwaall



Cme T @ p VoV < Qoredoo .

Complete
Mark 10.00 out of 10.00

g Flag question

4 yany oralaiall &l Lozl aual sl aladl algs 5 cang
igheall duan o ag) il

Select one:
© True

" ) False

The correct answer is 'True'.

Complete

Mark 10.00 out of 10.00

v Flag question

@33 JUbYT obbs Jsaa (o8 509l skl bawusio

CamScanner = Ligd &> guwaall



BT @& p Vol % Ooredoo M.

Complete
Mark 10.00 out of 10.00

v Flag question

da Ll ol faaly ie gaill jobad Il elicul o PIA oo
salelall Lebilas sie dalo] dalall ¢ 1S3 PRCRVECIP|
ﬁw&m:mxé&ﬁ __,:

O a. Byblall yae i Bayaldl Slileall dasa.

© b. hwlﬁ@j%JU|LW|hf

O d Wl yee ¢ WS adl dauall da, L.

The correct answer iS: jae b Sllasll Jis Lo dla 5o
Lslaldl

Question 4

Complete

AMarl- NN Ak ~F 10 AN : \
CamScanner = Ligd &> guwaall



TR T @ g oV < Ooredoo M.

s [ C sulms.su.edu.om & >

Complete
Mark 10.00 out of 10.00

v Flag question

Y L_S"“i.)” &al;.“ 9\5 fh'“ 299 ...

S o JO U S [ T r e VPN [ B W
O C. aaially ol Gayi g dulae

d. SLLEN $uaaia oo meluddl 33,

The correct answer is: gagl! saill o S,Lal .

Question 8

Complete

il 0 () $ >

CamScanner = Ligd &> guwaall



B AC p V0l = Ooredoo Ml

The correct answer is 'False'.

Complete
Mark 0.00 out of 10.00

v Flag question

Aol L8 faa b wie gaill Hokal Jalpl elivul jo YA 0y
Slalloall agiy 3pa)ll opo dane Jilall Lgai oSy (3l
= g .. .

D @ Galdll yae gd Lolll olileall daya.

O b. W jac ¢ LSl Lucualdl da,ll,

D €. Lwsbd! jae gé lilaall 5 Lo @l ya,

O d. Taglyll jae i sadl Slalaall Tan e

The correct answer is: jae b Lulll &lleall da o

CamScanner = Ligd &> guwaall




BT @& g oV % Ooredoo M.

Complete
Mark 10.00 out of 10.00

g Flag question

llall agiblaiinls oy ghalis ,3Y 1 &l50a0 & laaads up
e 3ylae oy
O a. saill géalall,
O b. g-c'.n::'\?h___;:ah.\.".
- C. eSaslipall sl

O d. dall alall

The correct answer is: gaill od iladl,

CamScanner = Ligd &> guwaall



oA i) 73V R R) © = *all *al

I Ao

The correct answer is 'True'.

Complete
Mark 10.00 out of 10.00

w Flag question

o BVl @l i @le o AL Ayl yac
Jeludlg @uadly Jasll.

Select one;

True

@ False

The correct answer is 'False'.

O O >

CamScanner = Ligd &> guwaall



oA i) 73V R R) © = *all *al

The correct answer is: gaz>all 8 8sLall 4s18]
eyl

Complete
Mark 10.00 out of 10.00

v Flag question

purlly Jislly nl i gl 0 &5 Eonsall e
lgen LAyl Jeladly psadl ilsa 3.

Select one;

“ True

False

The correct answer is 'True',

Complete

Mark 10.00 out of 10.00

W Flag question

O O >

CamScanner = Ligd &> guwaall



Complete
Mark 10.00 out of 10.00

v Flag question

30 aBy)l gaznall 5 laall yos ..

a. OLladl ¢sania o 2elucdl Bo0Ly).
C. pazally duyaall 3138 7gi duwylao.

o A upaall gazmall 3 8oLl Lo,

The correct answer is: gazzsall 8 5aLdll dol8]
sesyaall.

Complete

Mark 10.00 out of 10.00

v Flag question

O O >

CamScanner = Ligd &> guwaall



oA () 23V R Q) © =, %l *.al

The correct answer is: gadl 8 sl

Complete
Mark 10.00 out of 10.00

v Flag question

ettl] Sladly uadl ple 3 Sall yuylae cazal
999 (dyayall &yl 3yl &S duwlydly ezgy k.S.UI
o Syle

a. Sealyal alsdl,

b. gadll 8 il

C. oyl CSlal.

o d Sl Gl

The correct answer is: Sl ol

Complete

Mark 10.00 out of 10.00

O O >

CamScanner = Ligd &> guwaall



oA ) 73V R R) © = Ll

o0

@ sulms.su.edu.om/mod, OO

Complete
Mark 10.00 out of 10.00

v Flag question

il Sl il ple 8 (SAll ulsn sl
o 8yle sag Ellell @gibliwlg ..

a. eladl Ll
° b gadl SO Al
C. Suwalodl Caldl.

d. S9y=all Lol
The correct answer is: gadl 8 sl
Question 7
REZAN
Complete .
Mark 10.00 out of 10.00

O O >

CamScanner = Ligd &> guwaall




oA () 73V R R) © = %l *al

Complete
Mark 10.00 out of 10.00

v Flag question

18 tam Ly s gaall sqbed Johpal ulzalys Jos- o
Ol yaall g-LT |<JL.u J.é.h” 6.&.‘_)45.3 u-"” dl> yall

a. dwsldl yac 2 O llasll J.B Lo d> ya.

b. dselal sac b dyslall Elasll s s,

o C.dndl yae g @Syl gl dlsyall.

d. daylyl yae 5 B3 ymmall Slilasll dl> ya.

The correct answer is: & &Syl dpusl dl> yall
Ll yac.

Complete

Mark 10.00 out of 10.00

v Flag question

O O >

CamScanner = Ligd &> guwaall



o [ VR R) 2 all *all

d. Sl gsanze oy praludl 85035,

The correct answer is: ¢lw] youdy Jugud
oM.

Complete
Mark 10.00 out of 10.00

v Flag question
Joadll 8 aledllg adedl dayliay clilasyed pzal
dagledl ddasll yygladd dwlyall.

Select one:

True

“ False

The correct answer is 'False'.

Complete

O O >

CamScanner = Ligd &> guwaall



Tovimm VR O R © = %l *al

The correct answer is 'True'.

Complete
Mark 10.00 out of 10.00

v Flag question

58 ady)l gazall b alaall a0 .

a. oMl alises oo Jesedl LAY,
o bl el yewdo Jegud.
C. pazxallg dusyaall 3138 2gi dusylaa.

d. SBE gsamze oy paluwcd] B3

The correct answer is: ¢ lul youwdy Jugud
YN}

Question 4

Complete

Mark 10.00 out of 10.00

Fam AviAantianm

O O >

CamScanner = Ligd &> guwaall



Tovimm AVR O RN © = %l *al

The correct answer is 'False'.

Complete
Mark 10.00 out of 10.00

v Flag question

led g Unis laleza oyoSs 538l ol Lle cous oo S|
aalei U5T Jasll M5 0.

Select one:

@ True

False

The correct answer is 'True'.

Complete

Mark 10.00 out of 10.00

v~ Flaa auestion

O O >

CamScanner = Ligd &> guwaall



Tovimm VR © R © = %l *al

@ sulms.sueduom/mod, O

Grage Yu.uu Ooutor IUU.UU

Feedback

Complete
Mark 0.00 out of 10.00

' Flag question

dalzsall &0la8] LA ey pall ¢ gull.

Select one:

@ True

False

The correct answer is 'False'.

Complete

Mark 10.00 out of 10.00

 Flag question

O O >

CamScanner = Ligd &> guwaall



Tovimm AR O R €l *al

@ sulms.sueduom/mod, )

Complete
Mark 3.50 out of 3.50

v Flag question

016 te L s gall yobad Jolyal elzalys M5 o
solglall aldsd sue lalall (1853 (g8 yglay I dlsyall
a. &Sl yae 8 &Syl dwsl Al yall.

e b. m\:‘”_).ac.\_,suu.nsﬂddlnd.l}_).a

C. dasludl sac 3 dyslall Oldas)] dls ya.

d. 3 alell yac u.9 83 3>all Ollasll dl> ya.

The correct answer is: 8 Oldasll L8 b dls> 3o
duwn 3] yac.

Finish review

O] O >

CamScanner = Ligd &> guwaall



Tov i AR © R) .l %

Complete
Mark 0.00 out of 3.50

v Flag question

LYl bladl diwl e plazaly Ul Coony lonie
dlrys 20 e e @ lodie oy e @ledl B
elagall @038 e aawl (el a2y pladl 8

el dyloeradl oda 16 ddlull 48LoYl daaid ..

¢ A e dolu cand bl b yadl @ledl
léell plasciul dawlgy wgé ya.

. gt se Syl i) ] oyl el
sl alasciwl dawlgs.

C. 550 dsks i) ol oy pla
Slodl sluseiwl dawlgs.

d. 48 dolus Sl b yadl eledl
Hodll alacizl daulgy igi sa.

The correct answer is: el oyl @ledl
el slasciw] dawlgy wgt ye gl cused.

CamsScanner = Wigo d>guaall



-0 . O
Tovimm AR O R) &l

Complete
Mark 3.50 out of 3.50

v Flag question

399 L,S_)ﬂ.&” Jloall U_Q s lad Bl lyalg
a. u..uAL"SJ' 69.2'44.‘\” u.Q Ld>dl.
b. 2l gorwall 8 Syl
C. yual3dl ggtuall S Syl

o d gl gozuall L3 ol

The correct answer is: ggzuall ;3 Julol
21y,

Question 29
/N
Complete
Mark 0.00 out of 3.50

O O >

CamScanner = Ligd &> guwaall



Tovimm AR © R €l

The correct answer is: L)l U¥lg yadll Cils.

Complete
Mark 3.00 out of 3.00

v Flag question

2ol (o ALyl dBMall 18 Yl ol B
byl &3 dilozal! <18 13] lgis8 o8 drlouzaily
b ya yub g <8 13] g8 aealig ¢ L] 93

Select one:

¢ True

False

The correct answer is 'True'.

Complete .
7\
Mark 3.50 out of 3.50

v Flag question

O O >

CamScanner = Ligd &> guwaall



ol AR TN .l

The correct answer is: <315 13] \gig8 sls33/ gods

Complete
Mark 3.50 out of 3.50

v Flag question

Jeloudl & da5 8 daasiadl e Lall BN e3> oyos
2. Jlall sl senll Sl il
b. Jlall gl sadll Cils-.
C. Llall B¥lg yanll wle Cils

o d. Lisl BYlg pdll Cals.

The correct answer is: Ll U¥lg saall Cils.

Complete

O O >

CamScanner = Ligd &> guwaall



o i AR © ) all ¥l

The correct answer is True'.

Complete
Mark 3.50 out of 3.50

v Flag question

o byl @ddall 18 elilasyed 53l o388
Blozadly pogl ..

. 3t Dlowdl 518 13] Lgigh slaji/ codi
e h. Lo yo Dol cSIS 13] Lgigd Jl.\_'}j/égﬁj_

C. o Eplonzardl 18 15] B Jii/chnass
¢ Ll 93 blayl Wil

d. &8 Glocadl 518 13] \gigh Jai/ anss
gLl o3 blayl.

The correct answer is: «slS 13] gigd slayi/ co8s

N\

O O >

CamScanner = Ligd &> guwaall



ol AR O R) .l .l
The correct answer is True'.

Complete
Mark 0.00 out of 3.00

v Flag question

Slasyl (8 dio oMb Slays e aly oyl lanie
oy 66 igall 4z gl Bala) gasdly Ll
degasall I3y 5oyl elliy

Select one:

True

@ False

The correct answer is 'True'.

Complete

Mark 3.50 out of 3.50

 Flag question

O O >

CamScanner = Ligd &> guwaall



ol i AR © Q) ol

The correct answer is: alalll.

Complete
Mark 0.00 out of 3.00

v Flag question

dilyaB g 338l dpase duad Ll aeluy uadll oo
U1 T U Ta38 ead Cilgadl walises oo ailylgag
g3 g daded] ducngall

Select one:

True

@ False

The correct answer is 'True'.

Question 24

Complete

Mark 0.00 out of 3.00

=1

O O >

CamScanner = Ligd &> guwaall



ol i AR O R) atll

The correct answer is: dulaall dég ol

Complete
Mark 3.50 out of 3.50

v Flag question

[0 = Juloedl Soludl @lodl] - oo dyyondl 030
a. IS,
b. wlall,

e d. ?&b.\l.

The correct answer is: alakll.

_

Complete

Mark 0.00 out of 3.00

O O >

CamScanner = Ligd &> guwaall



o AR O R) ol *a

The correct answer is: jascwidl 8 e slais
6.\[.9.”.

Complete

Mark 3.50 out of 3.50

v Flag question

® A LwSe duylaall dBg il
C. duSe dusylaally slamzuil.

d. dwSe duwylaally ddlill.

The correct answer is: duwylaall d8g il

uesion22 A

Complete

NMarle 2 EN niit nf 2 BN

O O >

CamScanner = Ligd &> guwaall



ol i AR © R) ol

The correct answer is 'False'.

Complete
Mark 3.50 out of 3.50

v Flag question

Laball agall 8 paserun o3l elydzad] o
dodl OIS Dl

a. uwddl Jlasyl L8 e by,

C. swddl Slasil 18 o yoay.

o d ol jaseudl 18 e slai.

The correct answer is: jaswdl L8 0 sl
g3l

Question 21

Complete

CamScanner = Ligd &> guwaall



» - ﬁ L/ o
ol I AN © El 38l .l

The correct answer is 'False'.

Complete
Mark 3.00 out of 3.00

v Flag question

Lilysp UySBT anny Legll 18 Lo o) ay08 adiza,
Al

Select one:

True

@ False

The correct answer is 'False'.

Complete

Mark 3.50 out of 3.50

w Flag question

O O >

CamScanner = Ligd &> guwaall



ol i AR © R) all

The correct answer is: wsall ¢ OléMasl.

Complete
Mark 3.00 out of 3.00

v Flag question

24 )| (deloyl) Jabll Jo¥l podl o yzall L3
Byl sasdy Sladed! ¢ Ll syall gdazug 134

Select one:

True

@ False

The correct answer is 'False’.
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The correct answer is: JxsJlg ddMaxwl.
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Mark 0.00 out of 3.50

v Flag question

S UJ)Lle Soudl
a. oMl o SléMsl,
b. dalzsall .80l &legamall.

C. Ml s dpnydll gl

o . dalzsuall 480 SLalsl.

The correct answer is: oMall g Sz

Question 1 8
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The correct answer is: ggll.
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v Flag question
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cucll Wil g e 3yl yiohi @b ol

a. Vlyhsidl youg dggll.
o b. Jousdlg dlMazudl
C. oAb ygnadlg 3 yslall.

d. dogallg deleall,

The correct answer is: Jasdlg dMazwl.
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The correct answer is 'True'.
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a. Llsll sqll.

b. GYI.

o C. g4l

d. L)l GYI.

The correct answer is: g4ll.
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Mark 3.00 out of 3.00
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Select one:

® True

False

The correct answer is 'True'.
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The correct answer is: pgly casas 389 ;8 y0all
plyl gszuall 5.
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Select one:

True

® False

The correct answer is 'False’.
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Complete
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v Flag question
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D. ggzuall S Joe LIS auai 38y ilaxgll
1.

C. g9%uall UQ Joo &ilyS Laal 389 t5.“_314:?_:;.”

o dogll gszuall L poly iiad 33g S5 ymall

The correct answer is: pgb awali 399 5o =all
ol gotuall -
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Complete
Mark 3.50 out of 3.50

v Flag question

xhas daly o) J2ay doludl e 416 4y dayseall

Sy ..
e a. ule sl

b. asall.

CHPWESE)
d. Juzadl.

The correct answer is: wlecuwsdl.
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Lol

C. g9l o Joo &ilyS Gacai 389 gﬂ.&:.g-_g”

d. sotmall L8 @il psly hgiad 385 8 sall

The correct answer is: pgly cauai 389 8 s2all

a3l gotuall us asandl.
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The correct answer is: e 8yl yighs
Jxsdlg Ml quadl il .
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v Flag question
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Select one:

® True

False

The correct answer is 'False'.
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The correct answer is 'True'.
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o d puedl Wil Lle byl yyghs

The correct answer is: _le §ya .l yyghi
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The correct answer is: dwjlaall dl8g uyal
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Select one:

@ True

False

The correct answer is 'True'.
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The correct answer is: wlecuwdl.
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a. LuSe dw)laallg ol
b. duuSe duylaallg slamzwdl.
® C. dwSe dwylaall dl8g Coryadl.

d. duSe duwylaally cuyadl,

The correct answer is: duwjylaall d8g yyadll
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aerle g Juag doludl ol (18 ¢ dzdl Olllais o
a. Jezadl.

b. agbazdl.

C. asal.

o d olecual,

The correct answer is: wlecuesl.
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The correct answer is: uMbll @lsi Jgos
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The correct answer is: pbuil byl eled
ol plasciw! dawlgy Dol s sf dolus Sgusd.
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False

The correct answer is 'True'.
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